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Master of Arts (Economics) 1 Semester
(2124)

MICRO ECONOMICS—I
Paper : MAECO-101 (In all Mediums)

Time Allowed : Three Hours] [Maximum Marks : 80

Note :— Attempt FIVE questions in all, including Question No. 1
which i1s compulsory. Select ONE question each from
Units-1 to IV. Each short question in Q. No. 1 carries

2 marks while each long question in Units [-IV carries

15 marks.

1. Attempt any ten of the following short-answer type questions in
about 25-30 words each :

(i) The invisible hand.

(i) Three coordination tasks in the economy.

(i) Inductive method.

(iv) Stability of equilibrium.

(V) ‘Conditions of equilibrium in ordinal utility approach.

(vi) Define Compensated Demand Curve.
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(vif) Income-leisure trade off.
(vii) Consistency of choice.
(ix) Why do people gamble ?
(x) Explain lemon problem.
(xi) Principal-Agent problem.
(xu) Reserve capacity.
(ai) Returns to Scﬁle.
(xiv) Shape of short run cost curves.
(xv) Economies of Scope.
UNIT-I
2. Briefly discuss the ten principles of Economics.

Write notes on the following :

L)

(a) Static and Dynamic Equii rium.
(b) Partial and General Equilibrium.
UNIT-11

4. What is Consumer Surplus ? Explain Hicksian and Marshallian

approaches to consumer surplus.

5. What are the assumptions of ordinal utility approach ? Discuss the
effects of changes in relative prices and money income on

consumer's equilibrium with the help of indifference curve analysis.
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UNIT-III
Explain the role of network externalities in increasing demand.

What is adverse selection problem ? Discuss the market and

government response to the problem of adverse selection.
UNIT-1V

State and explain the law of variable proportions with one variable
input.
Write notes on the following :
(a) Expansion Path.
(b) Learning curve analysis.
(R=r wrem)
— & G YTl B IR AR g AL 1 T aferd g
gHe (R IV O J% X § 0 W A 9 AL 1

YeiF oY 99T $ fg 2 ¥fF g Wl g LIV H 9w
& g & fg 15 3% £

. Praffe § 3 B Tw @g-SadE gEl A ST Amm
25-30 Issl A QRN

(i) SIS EH|

Giy farear ¥ @ ge-ag & |

(ﬁ)WﬁﬁIl

(iv) e I e |

[Turn over



S —— I I GRS
i) s W @ @ R P
(vii) 3Mg-3rgeTer MR 94 |

(vili) TET A Preae |

(ix) @ SpEm o w@ed 8 7

(x) Lemon Problem HH=T=Y |

(xi) Ffdva-osi e

(xii) 3T o7y |

(xiii) TR 9 oedr B

(XiV) ACTHTAT TG aohi T I |
(xv) TG H pefaaed |

-1
2. oA & o Rygial A owdw F owwl @}

3. Tefafed o e fomd
(a) Rux A wieelier d@qem
(b) ifeF I HEHFT HET |

g1

4. YN AEAT T T ? I AW F Ru RRga IR
AT ISl I T@r Y |

5. FYEE ST A R AR ;¥ P gaiar
faeeom P WEHAl § ITE F Aot R ane A o
mmﬁqﬁaﬁ——r%qﬂﬁq{ﬁaﬁl

25349/PD-11069(T) 4



[

gfe—I11
gl "M ¥ Azad @Rl o T Fwil

e waH wHe @ @ 7 uRed w @ wwen W g
A g @ gRfEm o == w5

afE-1V
TF uRedHg Y & @Y WRad A rum @ fram aan
IR FHAT |
(a)ﬁ?ﬁﬁtfﬂl
(b) W@ ¥ 3@wn F v |

(Jart nigeTe)

1.

5C :— % Ud YHAs &9, &% If YRS &. 1 7 fa s@it T

gfse 1 3 1V 33 ada &9 fEx yms g1 yaa . 1 &9
IS ¥W YRS © 2 »id I8 A fd gfee -V &9 I3
oW yAs © 15 »id I8

25-30 mEer @9 &
(i) nifdd JgI
(i) nrafgesr R 35 I@HS 97|

(i) Yo fedt |
(iv) A3®s ©F AfEI3T

) nredten. QuiiesT ude ¥ Azee it RS

25349/PD-11069(T) 5 [Turn over



(V) nfeer a1 Ta9 & ufsghs 3|
(vii) »iHEs-feddt Tug de

(viil) S5 &t feamasT)

(ix) 3 dor fI§ u3e Ts 7

(x) Lemon problem 773 €H|

(xi) firhus-2de mifimm

(xi) fowe= AHIET

(xiil) AFE® '3 TURT|

(xiv) 53 AN & 63 @9 O M9 |

(xv) I U39 Tt nigafeerE)
gfee-I
2. WSE-WH3d © ©A fAU3T & Aou &9 g99r ag|
3. I feftmt '3 32 foud
(a) mfEs M3 ISTHG AZES|
(b) niHX M3 nWH A3SS |
gfee-I1

4. YUIIT ASUBH & J ? HUSTT AOUSH St fgarms »E
HIRGME ude ©F fenrfimr &3 |

5. niaStes BUTEEST Uy Eif udat &t g ? QetHiasT €9
ferdEe O HOE &6 WUIAS ¥ Huws '3 Amilfug ahEt o
IR € nmHEs R9 gEemi @ ygei & 9997 &9

25349/PD-11069(T) 6



giee-I1I
6 euﬁﬁmﬁ'a%‘?eaamama*?é}gﬁwzﬁmﬁuwa%l
7. 88 I mifimr & 3 ¢ yHlas gz
n@mﬁqﬁfw’%aﬁaﬁl
gfee-1v
fenrfimr 31
9. %W’%%&'%ﬁ:.
(a) fem3g wgar|
(b) fiwe a5 ferdmz|

2000
25349/PD-11069(T)



